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(1) BE%K
x2+y2+z2=1C1$x$D) 1<y <)((1£2£1)

(2) AJ1=(
draw3d (enhanced3d=true,implicit (x"2+y"2+z"2=1x,-1,1,y,-1,1,2,-1,1) ) ;

(3) fhmRsAR [ERimm ] |

1—2 3R
(1) BE%GR
Xx?+y?—22=1(2<x£2)(28y<2)(2£252)

(2) A=
draw3d (enhanced3d=true,implicit (x"2+y"2-z"2=1x,-2,2,y,-2,2,2,-2,2) ) ;

(3) flRER [h22 & 5] |
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(1) BE%K
x2—y2—72=1(25x£2)(2£y<£2)(-2£2£2)

(2) AJ1=(
draw3d (enhanced3d=true,implicit (x"2-y"2-z"2=1x,-2,2,y,-2,2,2,-2,2) ) ;

(3) R [FrND 2 >DIH]
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(1) Ba%GL
(x2=1)24+(y*—1)2+(z*—1)2=1. 5 (-1<xSsD) 1<y (-1£2z51)
(2) Ah=

draw3d (enhanced3d=true,implicit ( (x"2-1) "2+ (y*2-1) "2+ (2"2-1) "2=1.5,x,-1,1y,-1,1,2,-1,1) ) ;
(3) HEHESR [FKREMRZH] |
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(1) Ba%t

cos (x+0 y) +cos (x-0 y) +cos (y+0 z) +cos (y-0 z) +cos (z+0 x) +cos (z-0 x)=2 (P : ¥4 lh)
(2) A/
draw3d (enhanced3d=true,implicit (cos (x+iphi*y) +cos (x-Yphi*y) +cos (y+iphi*z) +cos (y-liphi*z)
+cos (z+iphi*x) +cos (z-Yphitx) =2,x,-4,4,y,-4,4,2,-4,4) ) ;
(3) fimFsEER [HFOIcEr oMl

1—6 3RTEEHK
(1) BEt S+l
(2) A

draw3d (implicit (x*2/1°2+y"2/2/2+2"2/3"2=1 x,-3,3,y,-3,3,2,-3,3) ) ;
(3) R R [#EMHm] |
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(1) Bk 2> 2°
(2) AHK

12 T g2 gy =1
draw3d (implicit (x*2/1°2+y"2/2/2-2"2/3"2=1x,-3.,3,y,-3,3,2,-3,3) ) ;
(3) fmiwE R [ AR |

1—8 3XIEEH
wr x 2 2 7 2
(1) Ba%C :H‘%7*§7:1
(2) AH=
draw3d (implicit (x2/ 172-y"2/2"2-2""2/3"2=1 ,x,-3,3,y,-3,3,z,-3,3) );
(3) #hmsEE [ ZENHhm]
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(1) Ba%C
sinyx2+y?
7= St (318x£317)(31sy<31)
(2) AH=

plot3d (sin (sqrt (x*2+y”"2) ) /sqrt (x*2+y"2) , [x,-3*%pi,3*%pi] , [y,-3*%pi,3*%pi ]
,[plot_format,gnuplot], [grid,50,50]) ;

(3) HimFER (A By M
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(1) Bt

x2+y?2
x2+y?2 —_

= - 2 2<x < 2<y<
Z 9 e (2_X_2)(2_y_2)

(2) AN
plot3d (exp (- (x"2+y"2) /2) * (x*2+y"2) / (2*%pi) , [x,-2,2],[y,-2,2]
,[plot_format,gnuplot], [grid,50,50]) ;

(3) iR (T 7]
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(1) BA%oC
—(x*+y?)
z=3 (2x2+y2) e (2<x£2)(25y<2)

(2) A=
plot3d (3*exp (- (x"2+y"2) ) * (2*x"2+y*2) ,[x,-2,21,[y,-2,2]
,[plot_format,gnuplot], [grid,50,50]) ;

(3) #hmiRs R [ Ukaik L7z

2—4 3RXRTBEHK
(1) Ba%:K Vx2+y?2

e 2 coszVx?ty?) (4<x<4)(4<y<a)

(2) AA=K
plot3d (exp (-sqrt (x*2+y"2) /2) *cos (%opi*sqrt (x*2+y"2) ), [x,-4,4],[y,-4,4]) ;

(3) f#iEFHER (A Doy 2]
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(1) Bg%C

C O s X

z=1log
cCoOSsy

(2) AA=K
plot3d (log (cos (x) /cos (y) ) , [x,-%pi/2,%pi/2], y,-%opi/2,%pi/2] ) ;

(3) FEAER (2 v —7 Ot/ il ]
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(1) B%t 1
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xx 2 y 2
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(0(x £2) (0(y £2)

(2) ADHR
u (a,x,y,p,q.r) :=a* (p*x" (-r) +q*y* (-r) ) A (-1/1) ;
plot3d (u (2,x,y,2,3,2) ,[x,0.01,2],[y,0.01,2]);

(3) fiEiFER [0 LD ~=7 k]
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(1) Bg%C
z=x"—3xvy?
(2) ABHK
plot3d (x*3-3*x*y*2),[x,-1,1],[y,-1,1]);
(3) HHE#ER [ERSY 2—H ]

(—1=x=1, —1=y=1)

2—8 3XRxEBEAHK

(1) Ba%=X
X2y
=ity
(2) AA=K

plot3d ((x"2%y) / (x*+yA2) , [x,-1,11, [y,-1,11);
(3) HEHEE [ZEREY 2 —4 2]
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(1) BI%EER = s*co
c s i

(2) AN
plot3d ([cos (s) *cos (t) ,cos (s) *sin (t) ,sin (s) 1,[s,0,2*%pi], [,0,%pil) ;
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3—2 SRTENEHEIHK
(1) BE%t

x=(5+2coss)cost

vyv=(5+2coss)sint

z=2sins (0=Es=2x, 0=t=2n)
(2) AJ1K

plot3d ([ (5+2*cos (s) ) *cos (1), (5+2*cos (s) ) *sin (t) ,2*sin (s) ],[s,0,2*%pi],[t,0,2%%pi] ) ;

(3) HmFER [ h—7 Z] |
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(1) Ba%C x=(5+coss)cost

y=(5+coss)sint

z=sins+0. 6t (0=s=2xn, 0=t=7m)
(2) AJ1K

plot3d ([ (5+cos(s)) *cos (t), (5+cos (s) ) *sin (t) ,sin (s) +0.6*t], [5,0,2*%pi], [t,0,7*%pi]) ;

(3) R [3F] |
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(1) BI%EER x=coss(3+tcos(s, 2))
yv=sins(3+tcos(s,2))
z=tsin(s,//2) (—n=s=nx —1=t=1)
(2) AH=

plot3d ([cos (s) * (3+t*cos (s/2) ) ,sin (s) * (3+t*cos (s/2) ) ,t*sin (s/2) 1,[s,-%pi,%pil,[t,-1,11);
(3) HHEFER [ AT ADH]
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(1) B3%C  x=5coss (cos (s/2) cost+sin (s/2) sin2t+3) -10
y=-5sins (cos (s/2) cost+sin (s/2) sin2t+3)
z=5 (-sin (s/2) cost+cos (s/2) sin2t) (-1€sn 18t <)

(2) A=K
plot3d ([5*cos (s) * (cos (s/2) *cos (t) +sin (s/2) *sin (2*t) +3) -10,
-5%*sin (s) * (cos (s/2) *cos (t) +sin (s/2) *sin (2*t) +3.0) ,
5% (-sin (s/2) *cos (t) +cos (s/2) *sin (2*t) ) 1, [s,-%opi,%pi ], [t,-%opi,%pil) ;

(3) fiEiAER [7 74 D7)
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3—6 3RTHENEBEHK

(1) Ba%C (3+cos t)

s
s(3+cost)
t

©w ©n o
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1
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X
y
Z (0=Es=2x, 0=t=2n)

(2) AH=
plot3d ([cos (s) * (3+cos (t) ) ,sin (s) * (3+cos (1) ) ,sin (1) ],[5,0,2%%pi], [,0,2*%pi] ) ;

(3) FE#ER [ h—F X]
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(1) BE%t

cos’t
cos’t
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X os
y in
z in (0=s=2xn, 0=t=2n)
(2) A=

plot3d ([cos (s) *3*cos (t) *3,sin (s) *3*cos (t) *3,sin (t) *3],[5,0,2*%pi], [1,0,2*%pi] ) ;

(3) fiHiFER [7 A7 vA FRYEKH]
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[
apNeNtay
N »n

n
n
S

O e

2
2
2

O n oy

X
y
Z

(2) AHK
plot3d ([2*sinh (s) *cos (t) - (2/3) *sinh (3*s) *cos (3*t),
2%*sinh (s) *sin (t) - (2/3) *sinh (3*s) *sin (3*t),
2*cosh (2*s) *cos (2*t) 1,[s,0.3,0.91,[t,0,2*%pi], [ grid,4,72]) ;

(3) MEGEER [~ v 7 ORI i |
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(1) BI%C

3(cosu+bcos3u)cosv
24/234+90cos2u
3cosbBu(sinut+bsin3u)sinv

2Vy13+5cos2uv22+5cos2u+9cosl2u

x=3cosut+tbcos3u-t

S3cosv(sinu+5sin3u)
2Y234+90cos2u
3(bcos3ut+tcosbS5ut+tcos7u+5cos9u)sinv
4¢13+5c032uJ22+5c052u+9c0512u

y=3sinut+b5sin3u-+

J13+50052usinv
2¢22+50052u+900512u

z=3sinb6bu—

(0=u=2x, 0=v=2n)

(2) AD
plot3d ( [ 3*cos (u) +5*cos (3*u) +(3* (cos (u) +5*cos (3*u) ) *cos (v) ) /(2*sqrt (234+90*cos

(2*u) ) ) -(3*cos (6*u) *(sin(u) +5*sin(3*u) ) *sin(v) ) /( 2*sqrt ( 13+5*cos (2*u) ) *sqrt
(22+5*cos (2*u) +9*cos (12*u) ) ) ,3*sin (u) +5*sin (3*u) + (3*cos (v) * (sin (u) +5*sin (3*u) ) ) /
(2*sqrt (2344+90*cos (2*u) ) ) +(3* (5*cos (3*u) +cos (5*u) +cos (7*u) +5*cos (9*u) ) *sin(v) ) /
(4*sqrt (13+5%cos (2*u) ) *sqrt (22+5*cos (2*u) +9*cos (12*u) ) ) ,3*sin (6*u) - (sqrt (13+5%cos
(2*u) ) *sin(v) ) /(2*sqrt( 22+5*cos ( 2*u) +9*cos (12*u) ) ) 1,[ u,0,2*%pi] ,[ v,0,2%%pi] ,

[grid,80,8]);
(3) #mFEE [Ob] |
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